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& JI2t L KOSPI= 24.53% &S5t ASLICH

43 KOSPI= & 2 [fiH] 3.04% éﬁ%&* 2556. 61pt INSHSLICH 48 = SAI= 018 29 2SS0 23 JIU AOINA S 2 EJASLICH
Ol=2 2Nl ZHe S22 25 XXIZ KOSPI= &t 2,2906 0K St 2LE, 01F 0I1=2 &= M2l 902 2tAl K0 U*“EP SN el &
o S0l dS/USULCH HUE WRE2Y EHD (1SH 2otE L2 & JIUHZ0| AL, OI0M et KDt Jj22] =01 ==Al

It FULH SHBEAIE &5 OHF}SLILH

538 KOSPl= && 2 [HHl 5.52% A S8 2697.67ptE JISHSLICH 58 =L SA= 015 29 SAXNAN [(HE 2AM 2lA3 252 2 AL
S0l s OItH20] 2EHCZE AZotH 4SHE BRSLICH Jl2 & 2302 0K OIHXIH S SAl= 58 292 H=x 0l Al10Dt
(YTD.2,720.64pt) ZAIZOLL, 2 012 LR SISO 0l ASZS U2 BrusiH 012 HASLICH
62 KOSPl= && 2 [HHl 13.86% &&8H 3071.7ptE JISHSLICH 68 SAle NHE2AE 2435 ’é"‘“ JI0 ¥ XI&EES 2|A3 &322 2 =9
NSHE SASUCH S5l AFR TGEAIT NS ZAD 'L AA' SH0| ZHMIS TESASLICL HEO A2 ENRE AL 58 =0
4 MEN 010 68 R H2E HUGI™NCH, 2 30.53 =, 848 NS JItHZ0] L2210 :‘LH SAle &S 0HZo6tASLICH
HEMHl K== +=AUES =XCH YR OIA KHlesE 208 B2 2 3=8 50112, =22 =2 NHE OFE 00| A0 i3 =2 042 iCtH
ZHES XSE =5 S’A'EP M2ESELICH S0 AIZS ZANM SHZY BHEX, EAHN, ATH B2 2MIDF LIEHE == JCHD BHEEFLICEH
S Net exposures= BZUH =2 =22 2AHEU St USLICH LONG ZXEMAME sStEE/010101, 2t _’.: I 2&E= 850t
1D UASH, SHORT ZXHUAM=E 28 AES 856t UASLICH Tet 78 AS2AH =0 SS2A 32I| 0|F EHE 2M E MWK Oisd S &
ME elAD QfISS HUS SLIHEGHH 286 LIDIASLILH S5l JI1& =52 WRUold 20| =0HX1D U1 ’éﬁ AMEOl 2=
er3, AlE 2t 2HI0IE JtsSA 0l HUISHH ZEZ2IQE CHHEIGH L2 HELLICH AIE &0 (et 28 M2 RsHoz 2&8E &+ A2,
A 2lAT 2ULE XRHOZ 510 DMLY ASE AAE HEHoZ 2Fo LIIIASLICH
> JI2HsH)+AUE (49 : %, %p)
=2 =2 3 =2 6IHE =2 9E 22 124E
HE0I90XH (F21)(28) 10.15 13.08 13.08 11.91
(BlmXI== CHel A1) (7.28) (8.93) (8.83) (7.07)
Z2(Class)g &g
HE0I90KH (FAHA 9.80 12.36 11.99 10.47
(BlmXI== CHel A1) (6.93) (8.21) (7.74) (5.63)
HEO0I90KH (F=ANAG - - - -
(BlmXI== CHel A1) - - - -
HE0190KH (F4A!)Ae 9.90 12.56 12.29 10.86
(BlmXI== CHel A1) (7.08) (8.41) (8.04) (6.02)
HE0190KH (F4!)C-P1 9.78 12.31 11.92 10.37
(BlmXI== CHel A1) (6.91) (8.16) (7.67) (5.53)
HE0I90XH (F41)C-P2 9.85 12.45 12.13 10.65
(BlmXI== CHEl A1) (6.98) (8.30) (7.88) (5.81)
HE0I90XH (F4)C-Pefl 9.89 12.53 12.25 10.80
(I X4 CHHl A D) (7.02) (8.38) (8.00) (5.96)
HE0I90XH (F=41)C-Pe2 9.93 12.62 12.39 10.99
(BlmXI== CHEl A1) (7.06) (8.47) (8.14) (6.15)
HE0I90RH (F4H)C-W 10.00 12.76 12.59 11.26
(BlmXI== CHEl A1) (7.13) (8.61) (8.34) (6.42)
HE0I90KH (FAH)CT 9.60 11.95 11.36 9.63
(BlmXI== CHEl A1) (6.73) (7.80) (7.11) (4.79)
HE0I90KH (F=4!)C2 9.69 12.11 11.61 9.96
(BlmXI== CHEl A1) (6.82) (7.96) (7.36) (5.12)
HE0I90KH (Z=4!)C3 9.79 12.33 11.94 12.64
(BlmXI== CHEl A1) (6.92) (8.18) (7.69) (7.80)
HE0I90KH (A C4 9.87 12.49 12.18 10.72
(Blm X< CHEl A1) (7.00) (8.34) (7.93) (5.88)
HE0I90RH (FA!)Ce 9.87 12.49 12.19 10.72
(Blm X< CHEl A1) (7.00) (8.34) (7.94) (5.88)
HE0I90KH (FANS 9.90 12.57 12.30 10.88
(BlmXI== CHEl A1) (7.03) (8.42) (8.05) (6.04)
HE0I90RH (FANS-P 9.92 12.61 12.36 10.96
(Blm X< CHEl A1) (7.05) (8.46) (8.11) (6.12)
HE0190XH (F41)S-R 9.94 12.63 12.40 11.01
(Blm X< CHEl A1) (7.07) (8.48) (8.15) (6.17)
CDSC HEWC E5 2002
CDSCS&42s 9.64 12.02 11.46 9.81
(Bl XI<= CHyl A ) (6.77) (7.87) (7.21) (4.97)
HI Xl <= (B X 0L3) 2.87 4.15 4.25 4.84




=) Blu X 4= (~"RI0t3) :
40% + CALL X 5%] X 10%

¥ 2| EXNANS BN HAUE LIEIY & 0|2 2E4nE

2= A2

KOSPI X 9% + OHZBP SEHAX == =10 1-2Y X 81% +

Ot LICH.

(KIS

SEIIX=(1

—2Y) X 55% + KIS &I XI==(2-3Y) X

e 214 2 2d %2 3¢ 2 54
HE0I90XH (FAN(RE) 11.91 24.44 37.36 84.92
(HIL Xl CHH A2 (7.07) (14.46) (22.85) (69.56)
== (Class)g & &
HE0I90KH (FANHA 10.47 21.26 32.14 73.36
(HIW X4 CHHl A2 (5.63) (11.28) (17.63) (58.00)
H=0190XH (F=AAG - - - -
(Bl XI== el A1) - - - -
HE0190XH (=41)Ae 10.86 22.13 33.55 76.46
(HIW X4 CHHl A2 (6.02) (12.15) (19.04) (61.10)
HE0I190KH (F=41)C-P1 10.37 - - -
(Bl XI== el A1) (5.53) - - -
HE0I90XH (F=41)C-P2 10.65 - - -
(Bl XI== CHEl A1) (5.81) - - -
H=0I90XH (F=4A)C-Pet 10.80 21.99 - -
(I XI== CHEl &1t (5.96) (12.01) - -
H=0I90XH (F4!)C-Pe2 10.99 23.21 - -
(HILXI4= CHEl 43 (6.15) (13.23) - -
H=0I90XH (F4A)C-W 11.26 23.00 33.41 52.53
(HILXI4= CHEl 43 (6.42) (13.02) (18.90) (87.17)
H=0190XH (=A1)CH 9.63 19.41 29.01 50.36
(HILXI4= CHEl 43 (4.79) (9.43) (14.50) (35.00)
HE0I190XH (F4)C2 9.96 20.55 20.55 20.55
(HILXI4= CHEl 42 (5.12) (10.57) (6.04) (5.19)
HE0I90XH (F41)C3 12.64 12.64 12.64 12.64
(HIW X4 CHEl 42 (7.80) (2.66) (-1.87) (-2.72)
HE0I90XH (=41)C4 10.72 21.80 33.01 75.26
(HIW X4 CHEl 42 (5.88) (11.82) (18.50) (59.90)
H=0I90XH (=41)Ce 10.72 21.81 33.03 75.33
(HIW X4 CHEl 42 (5.88) (11.83) (18.52) (59.97)
HE0I90XH (=4S 10.88 22.16 33.60 57.33
(HIW X4 CHEl 42 (6.04) (12.18) (19.09) (41.97)
HE0I190XH (FAl)S-P 10.96 22.33 33.88 77.33
(HIW X4 CHEl 42 (6.12) (12.35) (19.37) (61.97)
H=0I90XH (F=41)S-R 11.01 22.45 - -
(HIW X4 CHEl 42 (6.17) (12.47) - -
CDSC H2HE S8 +2AE
CcDSCs&t 42 & 9.81 19.70 28.41 52.35
(HIW X4 CHEl 42 (4.97) (9.72) (13.90) (36.99)
Bl W X2 (X 0t3) 4.84 9.98 14.51 15.36
=) Bl X2 (HX0F3) : KOSPI X 9% + OHFBP S XS =0 1-2Y X 81% + [KIS SEIIX5=(1-2Y) X 55% + KIS SI1X+=(2-3Y) X

X
40% + CALL X 5%] X 10%

¥ 9| EXNARS D) ANE UEHY = 0|20 224 WE EF5H= A2 OtLLICH
p QS S CHY|: BHOIR)
el DM AS SE-DNR SV EL B
22 — . — 2Sat JIE o8
= 2 = HBER | =W A9 ASTA DIE o=
& 0 921.56 19.48 3.16| -267.87|-61.40| o0.00| o0.00] 0.00] 0.00 1245 9.40 636.78
¢l | 6,133.75 28.49 3.10 | -1,749.26 [-515.44 0.00 ©0.00 0.00[ 0.00 34.25 | -23.68 3,911.20




3. At&te &

> AT EHE (r9l: miere %)
S =2 LBYE | Loy |20 ledidsnl oo | gz
™= =4 A Hs =X | FU [ = ASX] Jlet o=
kaw [ 33919 3,858 382 11.406 10 0 0 0 o[ 10734 -878 59,431
(1oo) | (657.0n|  (6.49)|  (0.64)] (19.19)| (0.02)[ (0.00)| (0.00)[ (0.00)| (0.00)|  (18.06)| -(1.48) (100.00)
a2 | 33919 3,858 382 | 11,406 10 0 0 0 o 10734 -878 59,431
* () PE B
F) 9 HATHBEC HABUHE HASS L 01423 BIIUS TH6HK LSLC
A Dl =)
atg REHIS Aote RHHIS
JlEk -1.59 SIS |
EOIHELOS = 6.75 EOIHEL0IZ e 18.06
sne [ 0.00 N 0.00
ssu 0.00 ssu 0.00
mssrE -0.09 | IHArE | 0.02
gg=x e 2.9 gy=x = 19.19
e I 1.10 oig | 0.64
e =1 6.8 e = 6.49
=N ) ‘ : 2 60.99 ‘ =N ; ‘ = 57.07 ‘
2 0 20 4 60 8 100 2 0 20 40 60 8 100
> EAAEY SXHIS (&9 : %)
=% AE5Y =S =< 454 ==
1 DAL FI|-F I 32.73 6 ENSEE 4.54
2 ESTEE 11.88 7 EESTITES 3.66
3 DAL H 6.18 8 DA T MHIA 3.43
4 DAL SETH-2E 5.90 9 DAG o2 -FUI)| 2.92
5 EPSTERENET 5.29 10 JIEk 23.46
EBSECPIF N 3.73
ESTIEES S
Angt}
AAT AT HE
ERSTENCEY!
FAT| 3t
AT A2
FACHTAH|A
a2 ol2HY||
T|Et —————— 23.46
0.00 5.00 10.00 15.00 20.00 25.00 30.00 35.00
F) 9 ¥EPES #RNYLS YBTES BELICH
> FAHEE SXHHIS: (H=(Short) ZXI &
=< AEY HS =< A5 ==
1 AN SSHY-2E 19.61 6 DAL 22235 6.87
2 ESTEE 13.14 7 DAL 6.32
3 ERSTIETES 12.09 8 DAL LBAHIA 5.57
4 EESTEBIRSEA 11.05 9 IAC I -F| 3.94
5 EESTER 8.25 10 JIEH 13.16
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